«DataType»
OT_ldentyfikatorllP

+ lokalnyld: CharacterString
+ przestrzenNazw: CharacterString
+ wersjald: DataTime [0..1]

«Enumerations
OT_Zrodio

pomiarBezposredni= O
wektoryzacja=D
pomiarFotogrametryczny = F
pomiarBezposredniDoSzezegTeren= M
inne=1

nieokreslone = X

«FeatureType»
OT_BudynekNiewykazanyWEGIB

+blokZBudynkiem

+ o+ o+ o+ o+

geometria: GM_MultiSurface

rodzajKST: OT_RodzajWgKST

status: OT_StatusBudynku
liczhaKondygnacjiNadziemnych: Integer[0..1]
liczbaKondygnacjiPodziemnych: Integer [0..1]

«Enumeration»
OT_RodzajWgKST

+budynekZObiektami

«FeatureType»
OT_BlokBudynku

«Enumeration»

«FeatureType»
OT_ObiektBDOT500

+ + 4+ + +

geometria: GM_Surface
rodzajBloku: OT_RodzajBloku
oznaczenieBloku: CharacterString [0..1]

numerNajwyzszejKondygnacji: Integer [0..1]
numerNajnizszejKondygnagji: Integer [0..1]

OT_RodzajBloku

kondygnacjeNadziemne = n
kondygnacjePodziemne =p
lacznik =1
nawis =a

E I T S S S

idl1P: OT_ldentyfikatorl|P

startObiekt: DateTime

startWersjaObiekt: DateTime
koniecWersjaObiekt: DateTime [0..1]
koniecObiekt: DateTime [0..1]

zrodlo: OT_Zrodlo

dataPrzyjeciaDoZasobu: Date [0..1]
informacjaDodatkowa: CharacterString [0..1]
numerOperatu: CharacterString [0..%]

przejazdPrzezBudynek = z
inny =y

mieszkalny =m

produkcy jny Uslugowyl Gospodarczy =g
transportul Lacznosci =t

oswiaty Naukil KulturyOrazSportu = k
szpitalallnneBudynkiOpiekiZdrowotnej = z
biurowy =b

handlowoUslugowy = h

przemyslowy = p
zhiorikSilos|BudynekMagazynowy =5
budynekNiemieszkalny =i

OT_ObiektTrwaleZwiazanyZBudynkami

«FeatureType»

«Enumeration»
OT_StatusBudynku

istniejacy =i
wBudowie = b

+ rodzajOhiektu: OT

+ geometria: GM_Primitive
_RodzajObiektuZzwiazanegoZ Budynkiem
+ poliliniakKierunkowa: GM_Curve [0..1]

«Enumeration»
OT_RodzajObiektuZwiazanegoZB udynkiem

{geometriaPowierzchniaBud}
{geometriaPunktM ultiPunk tPowierzchniaM ultiPowierzchniaBud}

constraints

taras =t

werandaGanek = w

wiatrolap=i

schody =s

rampa=r
podporaZwiazanaZBudynkiem = o
wjazdDoPodziemia = j
podjazdDlaOsobNiepelnosprawnych = d






